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000000 Absolute Maximum Ratings / Ta=250 N-channel P-channel unit
oooooooooo VDSS 60 O 60 \Y,
ooooooooo VGSS + 20 + 20 Y,
00ooooobed ID 3 O3 A
0000000PW=10s0 ID duty cycle 00 1% 35 O 35 A
oooboooopPw=100mstd Ip duty cycle O 1% 55 055 A
oooooooooon Ipp PWO 10us, duty cycle O 1% 14 014 A
oooo PD 00000Ooo(000mm?x 0.8mm)000 , 1.8 w

1unit, PW O 10s
ooo PT 000oooooomm?x 0.8mm)d OO, 2.2 w
PW O 10s
oooood Tch 150 d
oooood Tstg 0 5500 150 d

00000 Electrical Characteristics / Ta=250

[N-channel] min typ max  unit
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gboooooogo

min typ max  unit
goooooooooo 1GSS VGs=+ 16V, VDS=0 + 10 uA
gooooooooooo VGs(off)  VDs=10V, ID=1mA 1.2 2.6 \Y,
goooooooo |yfs| VDs=10V, ID=3A 2.8 4 S
O000OO0OO0OOOoOoOoooO Rps(onl Ip=3A,VGs=10V 110 145 mQ
RDs(on)2  ID=1.5A, VGS=4V 150 215 mQ
oooo Ciss VDSs=20V, f=1MHz 300 pF
gooao Coss VDSs=20V, f=1MHz 54 pF
gooo Crss VDS=20V, f=1IMHz 34 pF
goooooooo td(on) oooooood 8 ns
goooooo tr ooo o 23 ns
goooooooo ta(off) ooo o 30 ns
oooo tf ooo o 40 ns
goooooo Qg 7.8 nC
oooooooooo Qgs :| VDs=30V, VGs=10V, ID=3A 24 nC
goooooooooo Qgd 1.7 nC
gooooooo VspD 1S=3A, VGs=0 0.86 1.2 \Y,
[P-channel] min typ max  unit
gooooooooooo V(BR)DSS ID=0 1mA, VGs=0 O 60 \Y,
goooooooooooo  Ipss Vps=0 60V, VGS=0 01 uA
goooooooooo 1GSS VGs=+ 16V, VDS=0 + 10 uA
goooQoooooooo VGs(off)  Vps=0O 10V, Ip=0 1mA 012 026 \Y,
goooooooo |yfs| Vps=0 10V, Ip=0 3A 4 55 S
O0000DOOoDoOoOoooO Rps(onl Ip=0 3A,Ves=0O 10V 110 145 mQ
RDs(on)2 Ip=0 1.5A,VGs=0 4V 145 205 mQ
oooo Ciss Vps=0 20V, f=1MHz 990 pF
oooo Coss Vps=0 20V, f=1MHz 110 pF
oooao Crss VDs=0 20V, f=1MHz 76 pF
goooooooo td(on) oooooood 12 ns
goooooo tr ooo o 70 ns
goooooooo ta(off) ooo o 100 ns
oooo tf ooo o 70 ns
goooooo Qg 22 nC
gooooooooo Qgs :| Vps=0O 30V, Vgs=0O 10V, Ip=0 3A 4 nC
goooooooooo Qgd 4 nC
gooooooo VsD Is=0 3A, VGs=0 0086 012 \Y,
ooooOooOoooooooo
[N-channel] [P-channel]
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PG @ = s00 s PG @ = 500 s
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ooboooooog, Ves - Vv gooooopbodg, swTime - ns
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